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the test tear the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to
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9. E.
Q.No

g9 / Question

3t iaa)(“q

Answer Options

75m3ﬂaa;ré:m$rsm150gm§lﬁrma: 300

m’ m%mml

Weight of 75 m Volume of metal is 150 gm. Then find
the weight of 300 m® volume of same metal,

(a) 300 gm
(b) 900 gm
(c) 500 gm
(d) 600 gm

Tk T & BR A 300 N# aar & ooy areaes das

15 &l &, o vged e &1 var eemd?
A force of 300N is applied at the end of spanner, whose
effective length is 15cm. Then find the torque applied?

(2) 20 N-m
{b) 90 N-m
(c) 45 N-m
(d) 11.25 N-m

UF 63 3R & fAmg SR am Gw R e g W
A 4:3:2 F oI F AT AT A 56 Ry F
TS Ui A 3E H & Gl 9R (kg) F Iqiw

An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 1espect1ve1y
Then pick the correct weights (kg) of each metal in this
alloy in a same order?

(a) 32, 24, 7
(b) 29, 22,12
(c) 28, 21, 14
(d) 26, 20,17

A IREoT FEAEdt § i # Re e &
R & Heyw & g @ & TRowar & geg & g
RIeg Rreer ufafamr &1
In a machine maintenance manual, regarding the
frequency of Iubricating the machine, square symbol
TEPresents ——-—~mmmemmemm-n

(a) - TSt F&AFar HLAT
Daily lubricate

(b) Goargs T w3
Weekly lubricate

(¢) AT e s
‘Monthly lubricate

(d) @l Rwer war
Yearly lubricate

fer 2 WX 9y qanT o g qe B o a0
The friction force exerted by air on a moving body is
%:1 -7 (——

(a) a9 / Pressure

(b) T / Drag

(c) 3a1T / Lift

(d) 3cverg=shar / Buoyancy

8mm 9129 & ¥4 ¥ Fad 4 mm 9o 99 &) Fer o7

HFAT 87
How many cubes of 4mm side can be cut from cube of
side 8mm?

(a) 8
(b4
(c) 6
d) 12

Page 2 of 14




TE 02 (Fitter) : Series — D

7. | 3f9 geawr ¢iF fomw ad @ e W %a‘rw (2) /2
Tecd Heg Bl 67 ‘ (b) b/4
Where is the centre of gravity (CG) of right circular cone () b3
of height ‘h’ from the base?
(d) 2h/3
8. Wmmwmmw%? (a) 21 X 10° N/m”
What is the Young’s modulus of mild steel? (b) 210 X 10° N/m?
(c) 70 X 10° N/m?
(d) 7 X 10° N/m®
9. | gy mmar v Ak & & 3cue (25x0 - 4), ¥ 3y A=(5x-2) 1 (@) 5x—2)
at B 9ar oeme| | 1) (5x+2)
The product of two quanuttes Aand B is (25x —4), If A= _
(5% - 2), Then find B? (c) (4% —2)
(d) (4x +2)
10. | ws ohver sregeem g F MEEEK 77 & 1/3 o Bear 5 | (a) 27
o 3 aare v W fRae 9GS S e g (b) 9
A spherical aluminium ball is melted and made into (©) 18
smaller balls of 1/3 .4 radius of original one. Then how _
many such balls can be made? (@ 12
I, | vw e gae de foem s 7 9o IR o 10 | (2) 220 o’
2
I ¥ & aEd FdE GG 9T (b) 110 om
(c) 440 cm®
Find out the outer surface area of hollow thin cylinder, 5
_ (d) 70 cm
whose diameter is 7 cm and length is 10 cm?
12. | LPG & faeader g2 (a) NFgE SiwEe A
What is the full FLPGY Liquid Profile Gas
at 1s the orm of L ! (b)mmﬁ_g
Liquefied Petroleum Gas
(c) efFag wer
Liquid Pressure Gas
(d) = R T

Low Pressure Gas
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HIC UG AT & FT - FEd
The forging process in which, the length of forge reduces
and cross section increases is called ----------

13. IHFHT ~ TR I desw & vRaRfow RNt #r et (a) T / Red
IS FAT §7 (b) A% / Maroon
What is the colour code of acetylene cylinder in oxy- (c) 87 / Green
acetylene gas welding? (d) =14 / Black
14. | fseeic do8 &7 dosd e & ? @) nS
What is the welding symbol for fillet weld? ) M
| © Vv
@ il
15. | e (I 3meel) 1 gfee? (a) kg/em®
What is the unit of Torque? (b) Kg/om
(c) Kg—cm
(d) gm/ec
16. quaﬁré?mﬁmgaﬂmaﬂﬁﬁmﬁ (a) AT / Notching
________ B (b) %ﬁ?TET / Hemfnmg
(¢) gf=ar / Punching
The process of stiffening edge of sheet metal article by (d) Re=fdler / Snipping
folding is called --~----—
17. [ 104°F % faefr g # gea (a) 40°C
0
Convert 104°F into Degree Celsius, (b)30°C
(©)23°C
(@) 50°C
18. Hﬁ@f@?ﬁ%ﬂa@mmwmmﬁ@)mlEpoxy
3 A9, ST AR are giafEar & 9y sar #1 | (b) F=er / Char coal
The material used in furnace wall as a inner most layer, to (c) 39T / Refractory
resist high temperatures, physical and chemical reactions (d) 2R / Nitrading
is called —e--m-m-- B
19. | wIfster wfehar ot ot & dar$ &7 Q0 & 3K sy | (a) 3r90feTT / Upsetting

(b} 81591 373 / Drawing out -
(c) e/g®or / Shortening
(d) T3f%9r / Drifting
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ST 37
In which machining process, large amount of material is
removed?

20. | e v % desa & Qv Sl @ dosd ol sFA | (a) 35T FEA G
? High carbon steel
What is the welding rod nsed for welding aluminium (b) @& - =idy oy g
plates? : .
Copper-silver alloy
(c) Yg IFHIRTH
Pure aluminium
(d) ® e
Bronze
21, | 3ueaw & A1 9a¥ o ganr ol Alg @ So AW | (a) ErefEde sussw
Rwsm % T 3edesT 9T @ T S 2 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) T §X
by leverage affect. ' Crow bar
(c) ws fooe
Fork 1ift
(d) sRT 3T
Broaching tool
22, M RrRyd S Ra s e aar g ? (a) 10
What is the smaller diameter of a tapered pin shown in (by 18
below figure? ()12
(d) 16
Taper 1:50
------- ——
23. | & 3 T 99 F s (L) 3K We(P) & &g Far dew 7 | (@) L="P
What is the relation between the Iead (L) and pitch (P) of (b) L=4P
a two start thread screw? (c) L=2P
() L=1%P
24. | frg mhfA ufeer &, o oy & 9grd @ foveeran | () @/ Lapping

(b) Afes / Milling

(c) gifeier / Honing
(d) sfther / Buffing
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herer fpar e &1 o o &7 95 B 7 e & aw fiw
AL & A9 B GO H & AU TR B AR

Name the fit, in which the shaft is cooled below the room
temperature until it fits into the hole, then assembly is
allowed to attain room temperature,

25, | A e Ry & Rew smer o & 9% 3er & A @ | (a) d95s g
Compressive force
AL s B e [ - — & 3T § (b) T a
If a rod is bent into curved shape as shown in below Tensile force
figure, then the top most layer is subjected to --------- ©) mj—sr W
Twisting force
/ ? (d) % aor gt
; No force
26. | arete AT AR = www w O ag e afvw &1 (a) sower scafeg mhiEer
39T foRar ST g Electro Discharge machining
Pick the non-conventional machining method; it uses | (b) Seierer wag=T AT
reverse metal plating process. Electro Chemical Machining
(c) e AT
Ultra Soni¢’ Machining
(d) gererT waifea
Electroplating
27. | e SWlider Afehar # T U TRare a¥g H --eoee (a) ST / Cathode
: b) Ts / Anod
& 9 H Frr fFar Sar §7 ®) o
(c) gelwels / Electrode
In a electroplating process, the item to be coated is used (d) 397 & *IE Fel /
as . None of these
28. | oA faEARoT B FYEaH i R 9ard A § g (a) FGE $Td / Mild steel
Pick the material which has the least coefficient of (b) 3rEAietas / Aluminium
h 1 . (c) $=aX / Invar
ermal expansion, .
CHmat exp (d) Tr2FrIH / Titanium
29, fhe &1 7 sdv f9eR ave #F FA F I3 F oD | (2) @Earer s 90 s

Press fit by expansion
(b) F=FIz FT 99 e

Press fit by shrinking
(¢) gauifad 9d e

Hydraulic press fit
(d) R FE

None of these
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30,

B Tgd g ? (2) HiRTH TF TEHC
. . ) Calcium Di Sulfide
IQen’qu a solid lubricant? (b) HEEHRT 2 Fethe
Molybdenum Di Sulfide
(c) IRRT 3§ TewT
Potassium Di Sulfide
(d) ez =8 webe
Sodium Di Sulfide
3L | % O a8 & fAws & QU 3T e (a) Use et / Single cut
The file used for filing leather i8 -=mmnmnr--- (b) g et / Double cut
(c) TFY e / Rasp cut
(d) a1 @ed / Curved cut
32. | EoliaTd BYIST FHF wom-mmmm gany faafese (a) HTIT / Volume
The engineer’s hammer is specified by its -mun- OEERE IGEL
' Length of handle
(c) |IT / Weight
(d) &1 / Material
33. | wch AT (IS) WoTell F 3ER T fgel e @ 9.5 | (a) W @I
H-IS5101-1S, 9ganfia & g9 & I&ar 9.5 & #4737y Rake angle
5| - | O)EERECELIS
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5 H IS5101-HS, in this the number 9.5 | (¢) Fdser
stands for ---=-m--rm----m- Spindle diameter
(d) e =mw
Drill diameter
34, (a) 357 / High

ofy 3 R & Yard &7 o 32T § ar fger & afd -

If the strength of material to be drilled is high, the drill
speed should be ~----—--urmnmmv _

(b) @&t / Low
(0) ae ) My IR A g

Speed will not depend on
strength

(d) 3UUSFd F1S Fol / None of

these
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35, (a) 0.001
One micron = «--—-ceee e cm (b) 0.0001
(c) 0.01
(d) 0.00001
36. | fask S w1 Ry #o B g O Fed & @ &g | (2) 450
3ugaEd (b) 100°
What is the point angle of prick punch which is used for () 75°
making light punch marks?
(d) 30°
37. (el wemi Wy (NI wive 3mRe) ¥ R 39gF | (a) faer T dwr
SIRECH ‘ : ~ Soluble oil
What is the coolant used for machining cast iron? (b) T foer
Chemical Solution
(c) @t A&
Mineral oil
(@) 2frerer &l
No coolant
38. | wlerar Y T T AT £ (a) 4T / Shoulder
Which is not the part of a file? (b) WS / Heel
(c) ¥3eT / Ferrule
(d) 3XeF / Barrel
39. | Bfe af 44 m/min HY el & =w@ 20 mm ¥ faw | (2) 350
fedsd RPM &1 a1ovar =+ (b) 1400
Calculate the spindle RPM for drilling speed of 44 m/min () 500
and diameter of drill 20mm, ‘ '
(d) 700
40. | afffaR SR & 39 A7 Tha #ET # afoRR Tha W (a) 0.02
40 W fHg § e S wan mm #F & 6| (5)0.01
FGATH IO (US.H) FAT §? (T Th #1T=1mm ) (c) 0.025
In a vernier caliper 39 main scale divisions are divided (@ 0.03

into 40 equal points on the vernier scale. Then what is its
least count (LC) in mm? (take the value of main scale
division =[mm)
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41. | I T Fera soe g F sor @ wiafatd swar # (a) TRl FoT
What is an angle ‘@’ represents in the cutting tool figure Clearance angle
given below? (b) T T
Rake angle
(c) 95t HIUT
Wedge angle’
(d) 599 =I5 =@
None of these
i
42. | v fomed # w9 @ XY werd & gguE 2 (a) g FEId
Identify the heaviest material in the given options? Mild steel
(b) sreifaferas
Aluminium
(¢} TeriEeeE
Plastic
GES
Lead
43, | e F 3N 3T FET #7 % q29 ar 9% SaeT —eme S | (a) Fgel / Softer
As the % of carbon increases in iron, it becomes more ---- (b) N/ Harder
(¢) oi&rer / Ductile
""""""""" (d) @yr&et / Tougher
44. | Fod A ¥ R g FY weg w B uiEd §ooeeeeeee (a) gsfelar / Puddling
The process of obtaining pig iron from iron ore is cafled (b) wtie . / Smelting
(c) R/ Prickling
""""""" (d) st / Blasting
45. | oy #AMF &K T HT OART WA ST Al IUEH & | (a) 42T / Bed
gz 3T o Fr §fT = suerser wwar & (b) ¢ wiw / Head stock
Name the part of a lathe machine, that provides the | (c)a®Ea / Carriage
method of holding and moving the cuiting tool, (d) &se T / Tail stock
46. | g e sr R AW R 7 @ we sgar o B ¥ (a) 25
dr AT g T I H (b) 20
Find out the distance between the two holes in a plate as -
per the hole table shown in the below figure, ()45
HOLE TABLE: (d) 15
1 7| ool XY
1 1 5 5
Y 2 25 20
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47.

feal oy &1 ygar T w2
What is the purity level of wrought iron?

(a) 90.9%
(b) 95.9%
() 99.9%
(d) 93.9%

48.

(a) 9T c@Ee® TaliecH
Thermo plastic plastic
(b) a9 dfeer varfees
Thermo seiting plastic
(c) Tt g g
Non ferrous metal
(& eg

Ferrous metal

49.

ﬁwmwmmm%a’rw -------- g

As the rake angle of the cutting tool reduces, its strength |

1511 IR

(a) T
Increases
(b) @t g
Reduces
(c) 98 W &Iy YT G
No affect on the strength
(d) 3a#t #rs & B

None of these

50.

arfael Be Flmmeme ZanT e 8

Pneumatic drill is operated by ------—--

(a) faega s
Electric power

(b) IS arg laa
Compressed air energy

(c) g |
Muscle power

(d) geanfaa afea
Hydraulic energy

51.

Wﬁ?qmﬁwwqﬁﬁ@aw#ﬁ?%sﬁ?#

If tolerance of hole and shaft represented as shown in
below figure, then this fit is called ------

# AsHAFT
[ N N HOLE

(a) ¥Rt / Clearance

(b) safdeur / Interference
(¢) YR@cet / Transition
(d) 38 I =& '

None of these
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(2) 11.85 mm

52. [uw MI2XLS & wemell (dee) @ ads & o7 sos
IATRIES) SUrE T §7? (b) 12.15 mm
What is the blank size (diameter) for preparing a bolt of
MI12X1.5? (¢ 1.5 mm
(d) 12.3 mm
53. ﬁaaﬁrﬁaﬁwmwsﬁaaﬁaﬁmwﬁ (a) ¥€ / Root
RUSAT § Bl -ommmoev FEd € | (b) Feis / Flank
In a screw thread, the top surface joining two adjacent | (c) %¥e / Crest
sides of thread is called --------- (@) 9 / Throat
54. | UF Twer AN S e B Ak 9t smafa # Rswee | (a) S B
I r | - Fga &l Centre drill
| A single tool which performs the combined operation of (b) fawrlie sra=tfar
drilling and counter sinking is called -------- Counter sink
| (c) favdia &<
Counter bore
(d) wreit
Tap
55. | aftR qae WeHeR A wHAAH AUA § --moee (a) 1O?
The least count of vernier bevel protractor is «-v------ b1
() 5°
(d)y2’
36. |\ EYar yumelr A fAed RE ok IRER xR @ (a) IHR T REIH G
gfafafer & g Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T & FYTAA AT
dimension ’x’ represents ---------- Minimum limit of size
(c) =7 safama
_>§[V LLZLLLILLIT 77 N Lower deviation
7 B (d) i eafama
i Upper deviation
57. | 60° 45> @1 FioT (a) 60.75°
The angle 60° 457 = wemmenmaan (b) 60.5°
(c) 60.25°
(d) 60.6°
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58. | Rded, 9t 1 4RO w5 E ewer w 39T R | (a) wsw R
ST €7 Pipe vice
Which vice is used for holding rivets, keys? (b) gy RemaT
Hand vice
(c) Bt Rgar
- Pin vice
(d) s= Rysham
Bench vice
59. | & #Fr iy fawHE g T Al ey T & wAw § # | (2) 95T S
________ Fead T : Major diameter
The diameter of the thread, at which the thread thickness | (b) T =@
equal to half of the pitch is called ~--v-mem-- Pitch diameter
(0) g =T
Minor diameter
(d) mFeaET (QF) s
Shank diameter
60. [ vr fwg 3R urde weggar womer ¥ o 3R AW | (2) B 7 Hole
AT oo 3T T § ' (b) amFe / Shaft
In a hole and shaft tolerance system, small letter indicates | (¢) g fog 3ilv amwe
fundamental deviation of --------- Both hole and shaft
(d) g8H Fg 7

None of these
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